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DATA Data2;
SET Datal;
DROP 1d1 outcomel trtl;
RETAIN 1d1 outcomel trtl;
[F(id=1d1) THEN DO;
trt=trt1-trt; outcome=outcomel-outcome;
IF outcome=0 THEN DELETE;
OUTPUT;
END;
ELSE DO;
1d1=1D; trt1=trt; outcomel=outcome;
END;
RUN;
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LOGISTIC

PROC LOGISTIC DATA=Data2
DESCENDING;
MODEL outcome=trt / NOINT;
RUN:;



LOGISTIC +STRATA

PROC LOGISTIC DATA=Datal;
STRATA ID;
MODEL outcome(event=*1")=trt;
RUN:;
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LOGISTIC +EXACT

PROC LOGISTIC DATA=Data2
DESCENDING EXACTONLY;
MODEL outcome=trt / NOINT;
EXACT trt / ESTIMATE=both;
RUN:;



LOGISTIC +STRATA EXACT

PROC LOGISTIC DATA=Datal EXACTONLY;
STRATA ID;
MODEL outcome(event="*1")=trt;
EXACT trt / ESTIMATE=both OUTDIST=distI;
RUN;
PROC PRINT data=dist1;
RUN;
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